Find the difference

0 Mo has 3 strawberries.

Rosie has 5 strawberries.
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How many more strawberries does Rosie have
than Mo?

Rosie has more strawberries than Mo.

e Tommy has 4 cakes.

Annie has 8 cakes.
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How many fewer cakes does Tommy have
than Annie?

Tommy has fewer cakes than Annie.




e Teddy has 5 pencils.

Jack has 8 pencils.
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What is the difference between the number
of pencils?

The difference between the number of

pencils is

e Here is a bar model.
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What does the bar model show? @

What questions could you work out?
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